?S’N‘Jregrcrh on Test  Reviewd

j‘ Zx3'35“x+zd>< b j\J 3xr5 AX
‘ &E 23( T2x + C | w=3x+5 juf’zf %\g
j LSS e O TC N
T dxtroers dx =% Eut+c
4%*+ Zx* 85t C & (2x+5) %x
3 jﬁxg’;‘:% 7 dx | 9. j@jjﬂ‘(Bx)Siﬂ(Bx)dX
£y o+ C Bosons EJurde
4. 55x3+4x“5~2x3/7 dx | Ox= iﬁ(zx) Wt
3x! | | Zcastex) re
—é—j (5% rqx'i’ZXﬂ%>X 2dx o, S5 a5 o
2 [ 5XT ' Z2x™ dx U Joseue. T
[ S oyt ] % = b UJ"‘““L‘“
RSN R ST =L 2Wre
5 J+enx dx 2 (3x%+5) %1 C
~Inlosx] +C 1B j;(Zx3&5‘) (hx
5. J e ox R P
G fen [46r56)] - [0]
T=d o Nfetan F-
o Y Fetre Z
T‘Ie%‘l’fc’ 17 j F0N x dX
7. § 2er dx ~ln Jcxsx | '
2ex+( =In [ cosm | + ln | costa) |
O +0

O



12. j xIx o3 +3 dx

‘ , 3
Li X243 5 X’,&(iz, 2%;
d.u z%
d)‘\w 1% “f{; LLaiz' !_,
, N R ES T 4 0L \
BD\,U\C%S’ (5)1‘75 - 2.3 3 (2g>312 - é (,7)311.

"3

L= 2x 53 Sinu d%
%%\ =2 ’L) stau du
U 3N
(j)(: %:" ZCQ.SUW ‘
Zi% = T
bourdly 2(3%) - 3[R [ CD)(S\'\) QJJCW)J

[ !+(+;)~}

15 F6d>=x3-3 D,ﬂ n=l
x=TE= 3 x,-2 X3 x»a
0) €, (3)F( )+7ﬁ(f)+}<ﬁ)+f(’°)+}<“)+ @]
Re= 1477104 yniks
) Lo (DI £ @1 S (5)r 56) + £ +(2) ]
L, =10704 units?
) My (D580 #8)+ 582 30%) » 2(2) ]
| | m(‘,«» 2. Y8 uars®
) T, = [3)[ 5@ 1253, z%(ﬁ) Forerr 25(5) 1 25 (8)r 2]

T; < 12. oY um’lﬁ




o, F60=Jx =1 [1,9] n=H
o) Ry= (@) (F£@)+ £65)r 5D jf-(f%)]
Ry = 11.228 unts *
b) Ly =@ [F02 756>+ £(5)+5(7) ]
L y= 1.228 unvhs®
) My = @ [F@r50) 4505507
- My = 9384 s *
d)‘“’m: (D [F+25@) 4 256)+ Zf‘h)’ff(“*\)j
T,= 9228 unts?
7. FOO=x’+x*-lbx [0,3]

. \ C 7 ) 3 - )
O=x(x*rx-t ) BRESRS cﬁx)+f2 X2+ %%-Gx dx
| “ Ly i 2’ Ly % 3.2 3
O?X(X 1”31)(“-5.7_) qu‘* *5‘3‘5“&(7’[ R ARED -3 x )
‘ | =tb _ IS5
=0 X>%5 K=2 |5 | + = 73. = 5 Lot

I8, F(x)=J2x-5 -3 fB,ISj
O=\2x-5 -3 {j; Jax-5 -3 dx’ + jf\) 2%-6 =3 d¥%

5‘:4&( ’ 4 \%l = |7 uns

wla




20. FU) = cosx 3’“ ‘}

30
Cosx =0 ‘5 COBX dx + U‘: casx Ax ‘
T 2 L, | #
X=72 4 me 5 }SMX IE

f - 50 I[Sm 7- sz;n%'] /
L+ |2 = 3 yois®

2y, wv(t)= 2t%-24-F LO47]

o) (3t+y N t-2 )

‘[j>§ t=2sec

/JQ Sti-zt- de/ J2te -5 dt
- 2‘5{" /*‘ T*’L‘"‘S‘f‘
\[(0é (2)*-5) ]-[o _H 1 EHV (4% =5 ﬂ] E Lj

| -1z | + 2%
4O
2 Jd 345 2t-g dt
t?- k25t |
Liw) - o)
b £
C) Q) =vi(2)
Vi) = bt
Vi(3)= Gl3)-2
I ise
d) bﬁa""itz o+-§ dt -rj A2t -¢ dt
}1; e St S ’ I \,J ‘
\tzi + Eﬁ)“ 5)25u)]~[”’]
2+

ly fr.




o) J2 3t oges
o ose )
v -Co)
- £t
) alt) = bt-2
@(D :(@Cl7"z
L Ftlsec2
o) o St atrese-s gt
T RS bl
7 LIe- o]
Y fflsee
22 vt =ti-ser-d4e (o]
Q) o= tlt-2t-4)
0=t k-H)T+1)
e B S
/f(ft" stioatdt| + ), Pert-dt o
L;tq' ‘c}‘ztm);/ r ﬂif‘" £ - 2" ):
)[w-uw 32 ] - \]{\} ‘[i Vo (sy - 2t9)> | - [n]

s5'2,]+ “iz9—60J+ 51
32+ wgzs
L{JZ% T

[q (5)4 ¢(5)3¢Z(S>27 - (o]
=195 f+.



) Ol =vin= 2t2-0t- Y

al2)= 3(2)% ~((2) -4

a(2)= -4 Flsec?

d)}jﬁ P38 -4t dt [

RS

Ir[ﬁ(ﬂ“ - (2)° - 2(3)13 ,ED] /
| )«—2%75]

{

2415 .

&) JotP-strour dt

- 24S T

£) alu) = 34)*-6b)-y

Q(y)= 20 Fr)geer

o) stt)< J £3-3tat ot
g7

st= wti-tP-2t7

-1)= C

SI)= Gt —12-z¢% —17

INOE T(5)7- (D3 5(s)* -7

bzs -
S(s)= 55 ~125-50 -
s(s)= -3575 £t
h) S(45) —s(°) = o U Flec

4.5 =0




25 ) r(30) = 36.508 PeP min

) j r)dr + 571 = 10571 219 people

€) J o) at = 338N peePlC { o
‘-PO-Z_:

24 . é\x - lox* Y Bj
C\\i 33(2)&1‘"‘)

d\} 39(2)\ -1 ) dx
j oy J(Zx ~p>c\><

nl\’[‘ jx ﬂ-x#(,

3inl-dl= 3@ -@re

“@L\h%: _, ¢

5 g
5 Indl = La?”f@
%\w«f e
3(3‘ nly(= éxﬁ-xi* 3 ing = ! )
nlN|= 2x3-3x +\ny =0 S lfdx= -9
\( e/,x 3% ¥l =10 20 j.SZf‘O()" <
25 . 5 +on (2x ) dx 2 j‘: FOOAx= =T
EOH(L(X5)>:} 3x*

3x%* fon(2x*)
2o fsgjsméw(x‘ S)dx
[(Vsmm«); Sj Coa(ax}
271 ?XxS (x*- f’xu)dx %L f x “5'“»@\
- ):(za\?-)l-"ﬁ(&x K tj(“ix)
—L{'x(l—%xq»iOle)



